Lecture 15: Constrained min/max (§14.8)
[ ast time:
Extrepe %/mé//zm f condinuss on [D o R
Tf D5 clised st b of HHa ¥ hao bt

L AL s lec e At e ace 2 Ly ,,,é,;: SRt o 9 .Lf.,,

These ceten art ovetiead s /ff non Ha bosndary
st D, | C Jucvs Fodayy

- ———

Ej_(: Wﬁﬁ. ALY cr\/ 7/){3;%}: XZZ»LJZ o Tl {M
cicle xagr-f. 0 |

Y L0
3 K feDay,

R, \\\\.____
&

)




WM W@ f\@Lm ’i%w’ iz fu 5

LY ﬂ{* ard S u:f Jf‘ SFEL K g/VaCc
'S. L

Lat AN e @ 7ﬂ Léj /ﬂw'w'yﬁ’ &éc«éﬁwiﬁ’
J%ﬂgf s cirely

% azald WL@M %«é W % 5»7/ 7 7/) e ;@‘Aﬁf¢¢ﬂ7f +o ‘]qu

C/T/y& . Car— /l%(/‘é o /ﬂﬁéJ /%’iﬂ/}(o

e /7[‘3/% ; ,/Z ,gi e adled A ok

-3 A Giviiey fEEvEs F,8) e

” ,),, L {f‘___wu b ,gf'&.__‘{,'_
“{* A fnd § Skl :,.‘n:,,,.x.-‘—'f; L

T - ~Héann, St
e S X

£ ! s 1
ﬁé){- / 7 M_ 77 ) /
A leAC ALt ot / & C.f/’gﬁ,‘/{_‘f
-
o ey » A pe
T Ll g’#’d’/ 7% wf:ffg;/




50

@(@ Mﬁj’emaw /N jcmcm//; il
\/féu)‘{’ﬁicl\m@@ oy Hoe {QWQ%& 3(%3);1
e g00y) =Kty Aba damgoncy
V’F s JWWL%GMCJVJ@
X/ Kig: b atongonsy
Vit and Vg pomt
M Hae gance Ancctrons

Vf = %V?
wh ot I—/WMW

La rangg /M“’Z’//p/’ij
£x it =g g Y decorsnecd Loy Fall

Vi (26,230 = 2y = 3 (1, 19) = (D, D)
Do Tx= 2Nk WQ-Q&L:Q%%.
ifﬂ#o)m >\'—'~i a«w& éf—‘o '—-':> X-—*—ii.

I/F’ g/#o) %W)\:*l ok K =0 ?ij“—"—tl
QV“WLXﬂj




So tle critical pomts are (1,0, (-1,0), (0,1, (o0, 1)

Juat ao before. %9,

.._E_?E: Find 1he affsvéwce fm m = ¢ +o (0,0,0).

N\imiwxiae_: f(y,gj,%) = X%+ '3,2 + 2=

Subjectdo: g(x,q,2) =3

- an
-
-

(9,050

thi’fi‘cuﬁ Po{mﬂ"&‘ :
\7}[3(&%" ‘9‘%:&%) -~ 9\\4\73":" %(‘)M‘} 2)
= (?\vw}\}g}\)
§?..i[ﬁ_€-—: Q,X«-;:. )\
aé: ‘9\ 1{ -_—_—£7 2%3 -A= - A X = %;”X
Az = AN 2z =2Ax=4x => Z = dX
Combined wit g--—: b, this 34%@
b= vo(-n)+2(ax)= bx =>xX=1
S troa umigua criied povdt s (1,=1, ) Jjuat
a in The [asT Jec tuve .

75%% ?%a/%w‘ef: @ A%o&ni casiev Hrout b«eqfov’e. 7

) Don' £ fawe 4o Solve 74& I VO, e
ot word A be able o Ao %‘;LCMP(M@/? .




’égﬁ%%ﬁm%@ﬁﬂ@p%m%ém%’ 51
/W ot [WWW@CPMWMS fo ée,.?]

/ /]zm Mongtmioe . \J= Lo
\{ } .

/ Shyect dos A = 24k s 2hos2uk

£ -
V= (wh, Lk, o )= XVA
:>\2(k+w)ﬁ4k) ﬁw)
:—>_l_ | | [ | [ @ W(/L Jon
Syt EE Rt I Wi e | T
. C Wwfg}pi‘
—_>JI’J\J#J1/L;)QW (,AW?
me{mf«u@ Wi A:_ & er éﬁ 1: ( = j:w:hzi
@Mf“; t/m/w/%} V% wwd %rwmbf;’fc_ L\jﬁdﬁ[/cwém—
T/}? (Loywo, ho ) 40 Mﬂ) S0 75 (woJAojﬂc,>
MJu%mﬁmm,,%wamwwﬂz7%%%

s ij} iF vneadt be symemetric.



